
Part- III 

a;6ml:!)LO / MATHEMATICS

( �u51k9 LP!I)IDJLO �rEJ�QJ 6)..1� / Tamil & English Versions) 
(g JD IJ"LO : 21/z LD 6ffil ] [ Gwrr�� LD�uQu�a;GTT : 100 [Maximum Marks : 100 Time Allowed : 2½ Hours ] 
� n516l..161DIJ : (1) <:§l 6o> 6nT �� @Sl 6nrrr $a;<§ LO 5rfhu rr a; <:§l B=Br u u � ru rr � g)_GTTGTT � rr GT6bTU �6o>6nr

5 rfl u rr rr � � $ Q a; rr GIT GIT� LO . <:§l B=Br u u t5161Sl ru ® 6o> !D � ® u � 6bT <:§l 6o> !D $
a;�a;rr�uurrrorflLLO g)_L6nrI.q-LUrra; Q�rfl@Sl8;a;<ot.jLO. . . .

(2) �Q)LO <:§l6D6U� $(!5l.J� 6o)lD�6o)6nr · LDL...@GLD 6T@�6Ll�!!J@5LO,<:§llq-$Ga;rr1.q-®��!D@5LO UllJ6bTLI@�� Gru�@LO. WLffild<pTT QJ6o>l)"QJ�!!)@) Qu6bT51ru utLJoou(ti���t.b.
Instructions : (1) Check the- question paper for fairness of printing. If th.er� is any lack of 

fairness, inform the Hall Supervisor i.mJ:nediately. 
(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

®nSh.:.n.-1 : @ru @Sl 6nrrr ��ITGTT Jf>IT61rT® � rfl @..j$6o>GTT $ Q 8j rr�L�. 
Note This questio:ry paper contains four sections. 

pliflQ,I .,. I/ SECTION - I 
(w�uQu�a;ro: 15)/(M�:rl<s : 15)

®nSluy : (i) @u�rfl�ru g,_rom·is���"eii�,h�_:_llJGTTl�s;�t.b. 15xl::;:15 

Note: 

(ii) _Q 8j rr(b)�a; l.J u L@GTTGTT jfirrot�f�@�l� u�;ITTl Q) uSI ':661..J t.b �rrl UJ IT6bl � � L� llJ �
G�rrJisG�®�@ ®!!51ldL(b)L6bT 6.)516o>Lu51�6nru .. p.b G8=n-�� GT@��-

(i) Answer all the 15 questions.
(ii) · Choose the correct answer from the given four alternatives and write theoptjon code and the corresponding answer.
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1. A,B, ��hu @1J"6m® 856m-ffiJ85�85@) {(A\B) U (B\A)} n (An B) = :

(�) Au B (@) An B 

For any two sets A and B, {(A\ B) u (B\A)} n (An B) is : 

(a) <p (b) Au B (c) An B

2. 1, 1, 2, $, 5, 8, .............. GT�!!) Q�rrLIT Gl.lrfl�5u5l� 8-Gl.l� g?_IDJLI� : 

(�) 25 (�)24 (@) 23 

The 8th term of the sequence 1, 1, 2, 3, 5, 8, .............. is : 

(a) 25 (b) 24 (c) 23

(r-r-) A' n B' 

(d) A' n B'

(r-r-) 21 

(d) 21

�® Gu@85@)� Q�rrLrt Gl.lrrl�6u51GU 3-Gl.l� g?_IDJLI� 2 GT6nll ro ��� ep�ro _ 
5 g?_IDJ LI � 85GTTI � Q u @8585 d) u@ � 

(@) 10 

If the third term of a G .P. is 2,  then the product of first 5 terms is : 

(a) 52 (b) 25 (c) 10 (d) 15

. '� I 
I ; j l , ; � •,-'1 ;., :-;

:.
...., ' • :,_:,_ , 

f .(x) = 2x2 + (p + $)x + 5 GT@! L.b UGUWIDJ LI �85�85rt�Gl.lu51 � @® �6� UJ ffiJ85Gtfl� 
�®�ro �6�UJGLD6nllru p-� LD�LI�: 

(�)4 (@) -3 (r-r-) -4 

The sum of two zeros of the polynomial f (x) = 2x2 + (p + 3)x + 5 is zero, then the value 
of p is: 

(a) 3 (b) 4 (c) -3 (d) -4
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b2 b2

(@) _;_b2

( r-r-) -b2

(�) - (q1,) 4a 2a 4a2a 

If ax2 + bx + c = 0 has equal roots, then c is equal : 

(a) 
b2

(b) 
b2 

(c) -b2

(d) -b2

2a 4a 2a 4a

6. ( 5 x 1 )  [-!] = (20) , �6i!Tl6tl x - 60T LD/£h'.!Lj :

(�) 7 (q1,) -7 (@) 
1 

( r-r-) 07

If ( 5 x 1 )  [-!] = (20) , then the value of xis:

(a) (b) (c) 1 7 -7 -
(d) 07

7. (1, 1), (0� 1), (0, 0), (1, 0)  q1,cS1LLJ LIGTTmla;mrrGU �6D)LDlLfLD p;rr.ma;i;r��6irr UIJ"ULI :
j  

 l; l' �_,! ; -�� I} 

Area of the quadrila_teral formed by the points (1, 1), (0, 1), (0, 0), (1, 0) is :

(a) 3 sq. units

. (c) 4 sq. units

(b) 2 sq. units

(d) 1 sq. unit

6373
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8. (2,-7) <or6in"!I) �roITTl ruw)a: Qe=Q.)ru�LD x-�a:§1!iJ® @6o)�lLlrr60T�LDrr60T
a JD fr a; a8:i rn.: .... kt-6in" cFLD 6in"u rr® : 

(�) x = 2 (qb) x = �7 (@) y= -7 ( r-r=) y = 2 

The equation of a straight line passing through the point (2, -7) and parallel to x-axis 
is: 

(a) X = 2 (b) x = -7

9. u L�� Q.) LP AB\_= 120° <or6011 Q) LBPT = 

p 

(�) 120° 

In the figure, if LP �B = 120° then LBPT = 

p 

(a) 120° (b) 30° 

(c) y= 7 (d) y=2

(@) 40° ( r-r-) 60° 

(c) 40° (d) 60° 
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10. @® 6)Jlq-Q6)Jrr�{E (Y)85(gcErr6��1T5�d;GIT)6m' 8ril)!J)6IT�cEGff (Y)�!D(gUJ 24 cm, 18 cm <oT6m'cE.
(Y)f56U QJ)85�cErr���m �® U85cELD 8 cm <oTGnfl6b L.Oil)G!Drr@ (Y)85�cErr���m-�fE!D®
��� U85cELD :

(�) 4 cm (�) 3 cm (@) 9 cm (FF) 6cm

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is

(a) 4 cm (b) 3 cm

11. UL��6U AC=

C 

In the adjoining figure, AC= 

C 

A 25m B 

(a) 25 m. (b) 25$ m

(c) 9 cm (d)  6 cm

( FF) 25.fi. .ill

25 
(c) J3 m (d) 25.fi. m

6373 
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12. (1 - cos28)(1 + cot26) = 

(1 � cos28)(1 + cot28) = 

(a) sin2e

4 
(�) -cm 

3 

(�)O 

(b) 0 

3 (�) 
4 

cm 

6 

(@) 1 . 

(c) 1

If the volume of a sphere is �'TT cu. cm, then its radius is : 
16 

4 
(a) -cm_,

3 (b) 
3 -cm
4 (c) 

3 -cm
2 

( r-r-) tan2e

(d) tan2e

( r-r-) 

(d) 

2 -cm
3 

2 -cm
3 

14. X, y, z -6N �LL @lQ.)8;851..D t 6f60TlGD x+5, y+5, z+5 -m �L...L@lQ.)8;851..D: _ 

(�) t+5 (@) t (r-r-) _ xyz 

If t is the standard deviation of x, y, z then the standard deviation of x+5, y+5, z+5 
is: 

(a) 
t 
3 

I • �-

I :-ii i 1' •' 1 • 

(b) t+5 (c) t
1 - ·�j 1 ,') l -f � 

(d) xyz _

15. A 6r6NDJ �85�5�u5lm �85��85Q..j p 6r60TlGD L516N@JQ!j@J61IT@J!I)!)51GD p 61"�� ��!DGl.l 
Qa=u:..ilL.jili. 

(�)O<p<l (�) 0 � p � 1 (@) 0 � p < 1

If p is the probability of the event A, then p satisfies: 

(a) 0 < p < 1 (b) 0 � p � 1 (c) O�p<l

(r-r-.) 0 < p � 1 

(d) 0 < p � 1
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t.5lrrlfil.l - II/SECTION - II 

( LD�uQu61ITTs;Gir : 20)/ (Marks : 20) 

6373 

10x2=20 

Note: 

( ii) @S1 6ITT" rr 6T" 6iITT 3 0 di ® s; 6iITT Lq- U u rr s; @S1 6ID L UJ m1 dis; 6ll LO . QP � ru 
14 @S16ITT"rr dis; m1 ro1@Jt� GJ"a� @I LO 9 @S16ITT"rr di85 6ID GIT� a� ITGll Q 8=UJ lLI Gll LO, 

(i) Answer 10 questions.

(ii) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. G85rr{b)dis;uuL{b)GTTGTT F= {(1, 3), (2, 5), (4, 7), (5, 9), (3, 1)} 6T"®JLO· 8=rrri"L5l!I)(§, LD�,uu85LO
LD !D .Q)J LO ro a:8=8; LO �a;) UJ (@j JD 6ID !D 8; rr 6iITT 8;.

For the given functio� F= {(1, 3), (2, 5), (4, 7), (5, 9), (3, 1)}, write the domain and range.

17. �® k:k]!)a�rrLL��Q) QP�GU a11fl6ID8=u5l6U 23 al]"rrffirra= G8=Lq-856TT. 2 -LO rurfl6ID8=u5lru ·
21 allrrffirra= G8=tq_85Gir, 3-LO rurfl6ID8=u5lru 19 allrrffirra: Q5tq-s;m 6r6br.(I) QP6ID.(Du51ru allrr�rra: •
G8=Lq-856TT �® Q�rrLIT rurfl6ID� �6IDL.DLJL5lru !2_6TTGTT6ITT". 8;6IDL.61 rurfl6ID8=u5l6U 5 al)"rr�rra=
G8=Lq-856TT .@® U L5l 6b,- � LJ kk�a� rrLL�� 6U 6T" ��6ID6ITT" 6)J rfl 6ID8=8;6TT !2_6TTGTT6ITT".

•_ I 

In a flower. garden, there are 23 rose plants in a first row, 21 in the second row, 19 in
the third row and so on. There are 5 rose plants in the last row. r.Iow many rows are
there in the flower garden ?

18. 3x3-17x2 +31x .:... 12 6T"�U6ID� 3x-2 �Q) (@J(§di@)LO aurr� $16IDLdi(§LO r-FGll LD,[).Q)JLO
LD� s;rr6(ITTs;.

Find the quotient and the remainder when 3.x3 -17x2 + 31x -12 is divided by 3x -2.

[ �®LJl.-l85 / Tum over 
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3+.fi, 3-.fi �cfilUJru!f>�!D eproffil8561TrT8585 G85rrooL @®utq-a= B=LD6m"UrrLLq-�L85 
85rT0085. 

Form the quadratic equation whose roots are 3+.fi, 3-.fi. 

If A  ( _ ! ! ) - G  �), then find the additive inverse of A.

i - j Construct a 2 x 2 matrix A  [ ai1-] whose elements are given by aij  -. -..
l + ] 

(p2, 0) , (0, q_2) , (1, 1) 6T8ITU6of �Go- Gpj fr85GgrrL..Lq-6D ��L.D�Lb �rom1856fr 6T6ITT1Q)

1 1 
2 + 2 = 1 6T6of �IDJ6tj85. 
p q 

If the points (p2, 0) and (0, q2) and (1, 1) are collinear, prove that � + � = 1. p q ' 
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23. ABCD GT6lll,ID JDIT!!)8:i0-LD, ��6lll GT6Uro1Tu U858:iffi.J8:i�LD �® 6l.JLL�GID� Q�IT(b\LDITIDJ
�GIDLD[fi�GITGTT�. AB=6 cm, BC=6.5 cm and CD=7 cm, GTGmlru AD -6lll �GTT�6ID�85
8:i IT Gm" 8:i .

ABCD is a quadrilateral such that all of its sides touch a circle. If AB= 6 cm,
BC=6.5 cm and CD=7 cm, then find the length of AD.

Prove the identity (sin60 + cos60) == 1-3 sin20 cos20. 

25. 30 LI) JB� Q:PGITGTT �® 8:i LD·u �� 6lll � !J?60l 6lll JBGTTLD 10J3 LI) GTGml 6U (§rfltu 6ml 6lIT 6J!DJDc$
(g5., ITGm" �� 6lll ( �6o) o- to LL�� 60l@J1� GJ!D !I)s.i (g5., IT6m"LD) � GTT@Sl 6ID 6nr 85 8:i IT6m>f 8:i.

Firtd the artgular elevation (angle of elevation from the ground level) of the Sun wheri
the length of the shadow of a 30 m long pole is lOJ3 m .

. . . . Lj !I) U U 0-U 6ID U 8:i 8:i IT Gm" 8:i. 

If the curved surface area of a solid hemisphere is 2772 sq. cm, then find its total surface 
area. 

27. �® �6m>TLD &i.LDL516nr �O-LD LD!DIDJLD a:rr�lLIO"LD Q:PGID!I)alLI 20 cm LD!DIDJLD '29 cm GT6nllru
��� �LD85 &l.LD � 6lll 8:i6nl � 6TT6ID6l/ �  8,fr6m>r 8:i.

... 
·�

Radius and slant height of a cone are 20 cm and 29 cm respectively. Find its volume.

Calculate the standard deviation of ·the first 13 natural numbers. 

6373 
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29. A LD!I)IDJLD B GT61IT,(D @r,roo@ ffe85�8=6185GIT16D P(A) = .!_, P(B) = !.._, LD!I),(DLD P(AuB) = 1
_ 2 10 

(i) P(AnB). (ii) P (A' u B')

If A and B are two events P(A) = .!_, P(B) = 2.., P(AuB) = 1, find 
2 10 

. 
. 

(i) P(AnB), (ii) P (A' u B').

30. A= {x Ix - GT61ITU� 42 -61IT U851T8' 851Tr,rabfl} 

B={xl5 < x � 12, x EN} LD!I)IDJLD 

C = {1, 4, 5, 6}, GT6nrl6D 

Au (B u C) 851T0085. 

� <oiTGTil (1, 3) ffi JD (1'\ 8' G85 ITL(b\ 615) LD lLJ LD IT 858, Q 85 IT OOL (Y)8' G85 IT��� 61IT @® (Y.)615) 60T 85 6TT
(-7, 6) LD!I)IDJLD (8, 5) GT6nrlru (Y)8'G�IT6m"��61IT 3.:·QJ� (Y)615)60T615)lLJ8' 851T0085. 

For A= {x Ix - is a prime factor of 42}, B= {x I 5 < x � 12, x e N} and C={l, 4, 5, 6}, find 
A u  (B u C),. 

OR 

If the centroid of a triangle is at (1, 3) and two of its vertices are ( -7, 6) and (8, 5). then 
find the third vertex of the triangle. 
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t.51 rrl61.j - III/ SE CTI ON - III 

®!6luy (i) 

( LO� uGLJ6lSM85GTT : 45)/ (Marks : 45) 

9 @S16�Hr $8, �$@5 @S16lf) LUJ ml $8, 6Lj LO. 9x5=45 

(ii) 

Note: (i) 

(ii) 

@S1 6m" rr 6f 6lITT 45-a; @5 B> 6lrnT iq. u u rr B> @S1 6lf) L UJ ml a; 85 6LJ LO ·. QP � ru
14 6lS1 @rrff $8:>ml 615l@Jb� GJ� � @I LO 8_ 6lS1 @rrff $8, 6lf) GIT cg� ITG)_J Q s: Li.J UJ 6LJ LD. 

Answer 9 questions. 

Question number 45 is compulsory. Select any 8 questions from the first 
14 questions. 

31. Qru6lITT ULffiJ856lf)GITLJ UUJ6m"u@�� (An B)' =A' u B' 6f6m"LJ6lf)�5 s:rflurrrra;85.

Use Venn diagram to verify (An B)' =A' u B'.

j (x) = X + 5 ;  -5 � X � 2 
!x

2 + 2 X + 1 ; -7 � X < -5

(i)

x-1 ; 2<x<6 

2f ( -4) + 3f (2)

(ii) f (-7)-f (-3)

(iii) 
4f(-3) + 2f(4)

f (-6) -3 f (1) 

A function f: [ - 7, 6) ➔ R is defined as follows : 
, r, i I :.� . 7  ! 

f ( X) = X + 5 · . ;  -5 � X �-2 -
!x2 + 2x +_1 ; -7_� .x <�?

Find: 

x-1 ; 2<x<6 

(i) 2f (-4) +3f (2)

' (ii) f (-7)-f ( - 3) 

(iii) 
4f (-3) + 2f (4)

f (-6) -3 f (1) 
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33 �® 86l.L{Bl�Q�rrLrr rurf1�a=u5)6l) 10 LO!l)IDJLD 18 qb@J� �IDJLIL..18:>GTT (Y)�.(!)GlU 41 
LO !D IDJ LD 73 6r6?5Tl 61), 27 ru � �w u 6[) Udl8:> rr oo 8:>. 

The 10th and 18th terms of an A.P. are 41 and 73 respectively. Find the 2?ili term. 

34 16 cm, 17 cm, 18 cm, ............... , 3_0 cm q!;,cE1lUru!l)�!D (Y)6[),(!)GlU ua;5., �GTTQ.J85GTTrT8:>dl 
Q 5., rr ooL 15 5., 615T a= a=� IJ"ffi15., GTT16ITT 5., 615T � GITGl.t 5., GTTl 6ITT �® �61) 5., rr oo �.

Find the total volume of 15 cubes whose edges are 16 cm, 17 cm, 18 cm, ............... , 30 cm 
respectively. 

35• �IT8;8;: 
_

X
_ + X +1 = 61

X + 1 X 30 

X X + 1 61Solve: -- + -- = -

X + 1 X 30 

Find the square root of x4 -10x3 +37x2 -60x+36.

-.• ' • •• < . .. ,- .-( :· . .  ) i t 
... - --1 _ ..... '-• 

• _·j, - .' :·.:. 

31. 3x2 -6x + 1 = 0 6T" 6ITT.(!) a= LO 6ITTU rrL...�61) ep 6D ffiJ 8:>Gh° ex, 13 6T" 6?ITl 61) 85 W8l8:> rr� LD (Y) 6D ffiJ 8:> � GIT a;
Q5., rr 6m-L B=LO 6ITTU rr(Bl 5., 6[) GIT � 6[) L08;6., :

(i) cx2(3, l32cx (ii) 2cx + 13, 2(3 + ex.

If ex and f3 are the roots_ of the equation 3x2 - 6x + 1 = 0 form an equation whose roots 
are: 

(i) cx2(3, l32cx (ii) 2cx + 13, 2(3 + a.
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If A (: !) and I2  (� �), then show that A2_(a+d)A {bc-ad) I
2

. 

39. dABC -tobT (!P_6ID6nl'8.iITT A(2, -4) B(3, 3) C(-1, 5) 6r6mlru B -uSlrol®Jh@ 6Ll6lDl)"UJL.Ju@Lb
(§�@fficg8.irrL..@ 6Ll�6 Q56l)�LD cgJ!>1TffiGB.irrLtq-6bl 5LD6ITTUffL..6n)L 8.iff6!ITT8.i.
If the, vertices. of a dABC are A(2, -4), B(3, 3) and C(-1, 5). Find the equation of thestraight line along the altitude from the vertex B. 

40. (-4, 5) (0, 7) (5, -5) LD!!)IDJLD (-4, -2) �$!UJ LjITTGTii8.i6IDGIT .@6n)6ITT8.iGITrr8.iffi G8.irr6mrfL
Jljff!!)B.ilJ"��iobT Ul)"L.J6IDU$ 8.iff008.i.
Find the area of the quadrilateral whose vertices are ( -4, 5) · (0, 7) (5, -5) and
(-4, -2). 

41. 4Q w �UJIJ"(!PITTGIT �® cgB.iffl.jlJ"��t@IT �a:61 LD!!)IDJLD �Lq- �851UJ6L1!!)!]5)60i®Jh@ �®
Bi GU ffi.18.i 6ID IJ" @S1 GIT ffi 851 tobT �a:M uSl 6ITT 6J !D !D ffi cg 8.i rr 6m rFiJ 8.i GIT C!P 6ID !D cg UJ 3 0° LD !D IDJ Lb 60°

6r 6ml ru , Bi GU ffiJ Bi 6ID IJ" @S1 GIT 8l 851 tobT � a= M uSl 661 ® �@ cg Bi rr LI IJ" � � 6bT � Lq-ffi (§ � GIT GIT
�IJ"�6ID��Lb 8.irr�Bi.
From the top and foot of a 40 m high tower, the angles of elevation of the top of alighthouse are found to be 30° and 60° respectively. Find the height of the lighthouse.Also find the distance of the top of the lighthouse from the foot of the tower. 

' 
. 

42. �® ��LD cgp:;rr @JLL �(!96IDGITuSl6bT 6Ll6IDGITI..JUl)"L.JL.j .LD!!)IDJLD GLDrr��l..J Lj!!)L.JUl)"L.JL.f
(!P6ID!!)cgUJ 880 5_Q5_U) , 1188 5.Q5.ill 6r6ml6D ��6ITT 8.i6ITT �GIT6ID6Llffi 8.iff6!ITT8.i.
The curved surface area and total surface area of a solid circular cylinder are 880 sq.cm and 1188 sq. cm respectively. Find its Volume. 

6373 
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Calculate the co-efficient of variation of the following data 

18, 20, 15, 12, 25 

�® 6Ll(§LJL51GU @-GTTGTT LOIT6fflG'tJrra;GIT1Gb 40% Gurr a;mfl� 6lSl6nl1Tlcj- 6lSl6mlT JB1a;w55)�WLD, 
30% Gurr �,aSl@SlUJQ) 61516nl1Tlcj- GlS16nTIT J5185W551�WLD 10% Gurr �6i.J@S1r,r�(&) GlS16nl1Tlcj­
@S16nl1T J5185W551856IT1WLD 856\)�� G85IT�L6nlrr. �QJ6Ll(§UL516151@�� l!rl.O 6l.JITUJLILJ. 
(y:,66)!I)�GU �® LOIT6ffl6l.J6b-r G�rr�G�@8585L.IUL.LITGU, �rurr 85mf!� �6nl1Tlcj- @S16nlrr 
J5185W551�Grorr �Q)Q)� �,a5l@S1UJGb @S16nlrrL9- GlS16nlrr J5185W551�Grorr �Gbro�. @® 
J5185W551856ff1wGrorr 856\)�� G85rr�L�0)851T6nl J5185W�85� 851T�85. 

In the class, 40% of the students participated in Mathematics - quiz, 30% in Science -
quiz and 10% in both the quiz programmes. If a student is selected at random from the 
class, find the probability that the student participated in Mathematics or Science or 
both quiz programmes. 

( � ) � ® 5 rr a; 85 Giu 861. L rr r,r LO rr 6nT � @-@ 66) GIT� 6bT LO� 861. LD LI @66) 6ffl p:i � ru t.q..6lSl Gb 
�66)L.Opj�G1TGTT�. 861.Lrrr,r��6b-r GIL.Orr�� @-UJr,J"LD 49 LO. ��6b-r �t.q..uUa;85��6b-r 
6151LLLD 42 LO. @-C!966)GTTLJ urr85��6b-r @-UJr,J"LD 21 LO, GLDWLD 1 a:.LO $l��rr6b-r. 
�mfl�6b-r @S)66)Q) � 12.50 6f6mlGU, 861.LITr,J"LD �66)L.08585� G�66)6)JUJIT6nl $]'.��IT6m' 

��u516irr to6]6!)Q)6!)UJ/j; .$Ir�.$. ( '!I" = 2/ ) 

• ,\-'�,I/' 

(�) G85rr6ffl @®l!rLDGruC..t.q..� q,�!b.ro1���1µ)@!�66lQ)66)llJ 61"(!:Q� J51WJ�85. ,, 

(a) A circus tent is to be erected in the foqni�f ���one surmounted on a cylinder. The
total height of the tent is 49 m. Diameter of the base is 42 m and height of the
cylinder is 21 m. Find the cost of canvas' needed to make the tent, if the cost of

canvas is � 12.50/m2• { Take '!I" = �) 

OR 

(b) State and prove the converse of Angle Bisector theorem.
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L5lrrlQ1 - IV /SECTION - IV 

( LD�uQuooa;ro : 20)/ (Marks : 20)

®pS}LIL.l : �ruQrurr@ 6ti1mrr61S1ww 2...GTTGTT .@rrmrr(b) LOIT�©J 6lS1mrr85a;Gl1160l@Ji>� 63®

@Slmrr6mru� G�frJtQ�G)�� @® @516m"rr85a;(§85®LD 6ti16mLLLJ611185a;�Lb. 2x10=20 

Note: Answer both the questions choosing either of the alternatives. 

46. 10 Qa:.L.D @SlL..L(Y)GTTGTT �® QJLLI.D QJ6m1]"8;. QJLL��6b-r 6ml.DlU��ro1@pj� 13 Qa:.LD
Q � fT6mQ)@S1 GD p 6f 6b-f U) Ll GTT61116m LU 85 ® f]5l�� � u Ll GTT6111 u.s1 <oD1 ®lB� 6i.l LL�� !D ® PA
LD !DID! Lb PB 6f 6b"rUJ Q � rr(b) Ga; rr(b) a; GIT ru G[) 1J lB� � � 6bT J] GTTrEJ a; GID GIT a; G"m-85$1 ®a;.

�6\)6\)� 

.AB=7 �m, LA=80°, AD=4.5 cm, BC=S cm 6r60TU) �6TT6)..j�GTT Qa;rr6mrl"L QJLL 
pjfr!!)cl;IJ"I.D ABCD ruGIDIJ"a;. 

Draw a circle of diameter 10 cm. From a point P, 13 cm away from its centre, draw the 
two tangents PA and PB to the �ircle, and measure their lengths. 

OR 

Construct a cyclic quadrilateral ABCD with AB= 7 cm, LA= 80°, AD= 4.5 cm and 
BC=S cm. 

47. .QJG[)l)"LJLLD {'.Y)Q)l.D irr85a; : x
2-2x-3=0.

xy = 20, x, y > 0 6r6b"TLJ�6m" (@J@DQ"LJLLD QJG[)Q"8;. ��@n6m" ULLJ6m"LJ(b'�� x = S GrGmlru y

6m L.D�u@nuu..il.D y = 10 x -6b-r L.D�u6'6)·t.1�1.D- c6rroos;�'  ; .-

solve the,equation,x2-2x-3=0 graphically� 

OR 

Draw the Graph of xy=20, x, y > 0. Use the graph to find y when x = S, and to find x
when y=10.

-oOo-
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